HSC 2002 - Italian Continuers
Band 5/6 - Sample 1

Question 8

Section II — Reading and Responding

Part A - 25 marks
Attempt Questions 8-9

Read the texts on pages 9-10 of the question paper, then answer the corresponding questions
in ENGLISH in the spaces provided.

Marks
Question 8 (9 marks)

(a) What comparison is being made at the beginning of the article? 2
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(b) Describe how the problem is manifested. 3
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(c) Identify the main concern of researchers. 1
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(d) Explain why the word ironicamente is used in reference to the American 2
solution.
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(e) What is the aim of the advice given? Anaad 1

(A) To become expert web-surfers
(B) To become better housekeepers
(C) To become less Internet dependent

(D) To become physically fit
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